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5H8R R 0.886593
ERTE R2 0.786047
fH1E R2 0.67907
ZMEIRE 1.072381

&5 812 4
RZh BELRE t P-iE TBE 95% LB 95%
YR 0.3 3.163068 0.094845 0933085 -13.3096 13.90958

X fE 1 0.65 0.239792 2.710687 0.113407 -0.38174 1.68174




gretl Ay —JL: help EANTHEATUFD) A MRREREINFET
7 ols y const x

ETIL 10 &/ 25%KOLS), £#8: 1-4
EEREE: y

(£ RERE tE p fE
const 0. 300000 3.1630/ 0.09484 0. 9331
X 0.650000 0.239792 2. 711 0. 1134

Mean dependent var 8. 750000 S.D. dependent var 1.892969
Sum squared resid 2.300000 S.E. of regression 1.072381

R-squared 0. /86047 Adjusted R-squared 0.6/90/0
F(1, 2) ].347826 P-value (F) 0. 113407
Log—I|ikel 1hood —4.568984 Akaike criterion 13. 13797

Schwarz criterion 11.91056 Hannan—Quinn 10. 44450



?7o0ls 201

ETIL 20 &/ FEOLS), #HiEl: 1-4
NAERE - S

(£ RERE tE p {E
const 0. 300000 3.1630/ 0.09484 0. 9331
X 0.650000 0.239792 2. /11 0.1134

Mean dependent var 8. 750000 S.D. dependent var 1.892969
Sum squared resid 2.300000 S.E. of regression 1.072381

R-squared 0.78604/ Adjusted R-squared 0.6790/0
F(1, 2) ].347826 P-value (F) 0. 113407
Log—1ikel ihood —4. 568984 Akaike criterion 13. 13797
Schwarz criterion 11.91056 Hannan—Quinn 10. 44450

7 genr ly=log(y)
%5 |y (ID 3) Z#4ERkLZFELT=
7 genr |x=log(x)



%51 Ix (ID 4) Z{ERLZFLT:

7 ols |y const Ix

ET7IL 3 &m/MFEEKOLS), Al 1-4
EERZE: ly

(£ RERE tE p fE
const —-0.612468 0.93613/ -0.6543 0. 5801
| X 1. 08284 0. 366279 2. 956 0.0979 *

Mean dependent var 2.148539 S.D. dependent var 0.242983
Sum squared resid 0.032984 S.E. of regression 0.128421

R-squared 0.813778 Adjusted R-squared 0./720666
F(1, 2) 8.739849 P-value(F) 0.097904
Log—-1| kel rhood 3.920292 Akaike criterion —-3. 840584
Schwarz criterion —=5.067995 Hannan—Quinn —6. 534047

Log—Ilikelihood for vy = —4.67386



